TS595/509/955 Hugger Part # 07602

Fitting Instructions
Fitting Kit

1 x bracket CFK07602

1x M6 x 12 s/s allen bolt CBOLMG60007
1 x M6 steel washer CWASM60001
1 x M6 black plastic washer CWASM60003
1x M6 nyloc nut CNUTM60003

Note: on later dual swing-arm models it is necessary to remove the rear wheel to fit this accessory.
Remove the exhaust can.

Remove the small rubber cap in the pre-drilled hole on the top face of the swinging arm head.
Remove the bolt which locates the inside forward end of the chainguard.

From the underside face of the swinging arm head remove the bolt which secures the end of the drive
chain rubbing strip.

The hugger now slides onto the swinging arm head from the right side. The bracket mounted on the

hugger should be facing directly away from you at this stage to allow clearance for assembly.

With the hugger roughly in place the underside bracket can be swung into place to be sandwiched
between the end of the chain rubbing strip and the face of the swinging arm — assemble the bolt loosely
at this stage.

Now refit the chainguard mounting screw with the hugger flange between the chainguard and the
swinging arm face. Screw the M6 x 13mm crosshead screw and washer provided into the other hole.

Both top fasteners can now be fully tightened followed by the lower fixing bolt and the nyloc nut
locating the hugger bracket.

Alignment should be achieved first time. View the hugger from the rear of the machine to check the
hugger is central over the tyre. Loosen the fixings to allow a small adjustment if necessary.

Finally refit the exhaust can.

Remember to check tightness of mounting bolts from time to time.



